(6 |magiAnstEy

(BEGT. A HE)

A | -

# X = B I = I = HF

B 64,272 32,347 31,925 23,224
KigEh X 10,375 5,071 5,304 4,292
KB E = Er T 435 207 228 181
7K 8 R G ET 1,684 855 829 738
7K 8 & RE BT 229 929 130 72
KB AT 308 155 153 133
KB TThT 114 51 63 44
K8 R ET 562 269 293 225
KigE=H 629 306 323 287
K E A HT 707 334 373 285
KB E G A HT 1,693 814 879 722
K EFR T HT 1,540 765 775 590
7K & HISE T 656 312 344 277
7K 838 LI T 1,574 781 793 653
K8 )| X BT 244 123 121 85
LR X E 5,983 3,061 2,922 2,292
2 [ BT FR 202 97 105 70
ZEETZ 3,564 1,846 1,718 1,460
ZERTA 1,649 831 818 579
SMEETT 568 287 281 183
ER X 2,839 1,424 1,415 989
IR HET 106 52 54 35
HEERETHE 178 84 94 56
FERERTHTHET 164 84 80 41
KA SERET 1,728 861 867 654
K 4 SER T 541 280 261 166
{RAEBP# EET 122 63 59 37
RIEFI X 5+ 1,500 749 751 484
P A& H 366 175 191 121
X & HT 671 344 327 219
€t 5 463 230 233 144

10



(BB A, )

#H X HH KN
=FMXE 4,597 2,283 2314 1,586
F E H 3,050 1,539 1,511 1,085
= iR HT 1,547 744 803 501
F & X5t 1,823 886 937 626
W R ET 172 88 84 53
=iRFTEHET 280 143 137 83
B = Hr 279 148 131 92
L & H 653 297 356 262
g Ey 439 210 229 136
REH# K ET 2,949 1,465 1,484 1,003
/N FHET 396 188 208 139
FHEF A ET 584 296 288 232
oL BT 306 152 154 104
O 110 59 51 39
+ & HT 361 170 191 111
RO 185 88 97 54
X & HT 256 133 123 81
E & HT 123 67 56 35
£ M 119 53 66 35
& Bh HT 131 75 56 42
#HARHET 378 184 194 131
I #h X 5+ 2,043 1,037 1,006 720
RN-F AR ET 4,289 2,203 2,086 1,592
RISE A HT 1,537 781 756 520
?ggg_.rﬁ 257 143 114 132
- TH 703 373 330 301
?gggzj'a 1,792 906 886 639
T4 X ET 3,530 1,822 1,708 1,179
BT 2,532 1,303 1,229 863
KIZFFHT 998 519 479 316
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(BB A, )

A m| -
# X = B I = I = HF
AT HXET 7,708 3,846 3,862 2,722
KETFT 2,467 1,265 1,202 848
FET 3,426 1677 1,749 1,205
XEBE 658 329 329 242
B[R 460 221 239 155
wna 469 238 231 173
TR 194 98 96 86
IRk 2 34 18 16 13
LHXE 2,531 1,294 1,237 808
Eiz0a 170 85 85 48
2H 1,381 709 672 461
XEH 718 375 343 227
fhHE 262 125 137 72
EhXE 2,082 1,013 1,069 676
[RE 653 294 359 210
MR 616 311 305 209
EFER 813 408 405 257
fiE] B #h X &1 6,546 3,337 3,209 2,365
I 1,272 651 621 429
E4& 932 470 462 303
AAT 1,748 932 816 721
=1L 1,126 554 572 408
[543 709 363 346 257
BiHH 25 13 12 9
g 53 25 28 19
& H 681 329 352 219
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(BB A, )

X rrarm #®H
BB X & 5477 2,856 2,621 1,890
JREFIL 954 507 447 342
BEFILFH 142 75 67 34
T fE A # H 314 158 156 111
HEAR 1,137 614 523 417
HEIARBHH 67 38 29 28
KiR#H 47 25 22 12
KiR 430 222 208 147
55 645 296 349 268
Fi5%H 75 39 36 23
FEL#H 173 83 90 42
EFKRHH 153 82 71 51
BREZHH 333 168 165 96
BB _ 1,007 549 458 319
GE) Fr28F4A BRI AR mER

(KB HERKEY)

ERR7EERRAEICKDITEEDHTLIL 1,124,349,

ATEIAE LR T 5 E,35,9381HHF,3.3% DM,

B R44THATHF D55, Z D5 ERM I HBHAEML =D (E31 7 ETH (25T sET15T) B4 L=
D (F13FETH (7HSETIR) &72Y, 78I L O THETA THF A EML =,

HEHEHOEMBEAAODEMELYHKE O, 1HF LY NBITRIED2.73AD5
259 AANEFDLT=,

HETA BT, N FRETD3.24 N ATATHD3.UBANRKE KEFD2.30A, 2K (EXHD2.31
ANDYNELY,

S A TIX,2.48 A~2.90 A THY, &g & HFTEIICEER0.1 AL LB ALY =,

R OEoEMEHERR VT
FR7EEZREAOFEAEHERBE TR LY

4
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